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Note : All questions are compulsory. Marks are 

mentioned against each question. Answer 

question nos. 1 to 5 in 500 words each. 

1. Define Economic Geography. Discuss the 

approaches and recent developments in 

Economic Geography. 10 

Or 

 Discuss the concept of spatial interaction 

and diffusion in detail. 

2. Explain briefly the types of economic 

activities. 10 
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Or 

 What are the indicators of development ? 

Discuss in brief the various kinds of 

development indicators.  

3. What are minerals ? Discuss briefly the 

utilization and consequences of over 

exploitation of mineral resources. 10 

Or 

 Define the concept of human resources. 

Explain the concept of work participation 

and its measurement. 

4. What is animal husbandry ? Discuss the 

different types of pastoralism practised in 

the world. 10 

Or 

 What is mining ? Explain the four methods 

of mining.  
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5. Discuss the distribution and production of 

iron and steel industry in India. 10 

Or 

 Briefly explain multimodal transport 

system. Discuss the benefits and challenges 

of intermodal transport system in detail. 

6. Answer any five of the following questions 

in about 300 words each : 5×6=30 

 (a) Explain any two components of 

Resource Management. 

 (b) Discuss the management strategies to 

conserve land, soil, forest and water 

resources. 

 (c) Discuss salient features of 'Plantation' 

and its geographical distribution. 

 (d) Write a short note on "Tribes and 

Forest rights". 

 (e) What are agro-based industries ? 

Write the disadvantages of agro-based 

industries. 
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 (f) Discuss the recent trends in theories of 

industrial location. 

 (g) Write a short note on 'trade blocs'. 

7. Write short notes on any five of the 

following in 150 words each : 

5×4=20 

 (a) Economic distance 

 (b) Wholesale and Retail trade 

 (c) Resources are functional and 

operational 

 (d) Food processing 

 (e) Quinary economic activities 

 (f) Geothermal energy 

 (g) Wood products 
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 BGGET–142 

ch- ,l-&lh- (lkekU;)  

(ch- ,l&lh- th-) 

l=kar ijh{kk  

twu] 2025 

ch-th-th-bZ-Vh-&142 % vkfFkZd Hkwxksy 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh iz'u vfuok;Z gSaA izR;sd iz'u ds lkeus vad  

bafxr gSaA iz'u la[;k 1 ls 5 rd ds mÙkj 500-500 

'kCnksa esa nhft,A 

1- vkfFkZd Hkwxksy dks ifjHkkf"kr dhft,A vkfFkZd Hkwxksy esa 

n`f"Vdks.kksa vkSj gky ds fodkl ij ppkZ dhft,A 10 

;k 

 LFkkfud ijLijfØ;k vkSj izlkj dh ladYiuk ij ppkZ 

dhft,A 
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2- vkfFkZd xfrfof/k;ksa ds izdkjksa dks la{ksi esa le>kb,A 10 

;k 

 fodkl ds lwpd dkSu ls gSa \ fofHkUu izdkj ds fodkl 

lwpdksa ij la{ksi esa ppkZ dhft,A 

3- [kfut D;k g® \ [kfut lalk/kuksa ds vfrnksgu ds mi;ksx 

vkSj ifj.kkeksa ij la{ksi esa ppkZ dhft,A 10 

;k 

 ekuo lalk/ku dh vo/kkj.kk dks ifjHkkf"kr dhft,A dk;Z 

lgHkkfxrk dh vo/kkj.kk vkSj blds ekiu dh O;k[;k 

dhft,A 

4- i'kqikyu D;k gS \ fo'o esa izpfyr fofHkUu izdkj dh 

pjokgk izFkkvksa ij ppkZ dhft,A 10 

;k 

 [kuu D;k gS \ [kuu dh pkj fof/k;ksa dh O;k[;k 

dhft,A 

5- Hkkjr esa ykSg ,oa bLikr m|ksx ds forj.k ,oa mRiknu ij 

ppkZ dhft,A  10 

;k 

 cgqfo/k ifjogu iz.kkyh dh la{ksi esa O;k[;k dhft,A 

varjfo/k ifjogu iz.kkyh ds ykHkksa vkSj pqukSfr;ksa ij 

foLrkj ls ppkZ dhft,A 
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6- fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj yxHkx  

300 'kCnksa (izR;sd) esa nhft, % 5×6=30 

 (d) lalk/ku izcU/ku ds fdUgha nks ?kVdksa dks le>kb,A 

 ([k) Hkwfe] e`nk] ou vkSj ty lalk/kuksa ds laj{k.k ds fy, 

izcU/ku j.kuhfr;ksa ij ppkZ dhft,A 

 (x) ^o`{kkjksi.k* dh eq[; fo'ks"krkvksa vkSj mlds 

HkkSxksfyd forj.k ij ppkZ dhft,A 

 (?k) ßtutkfr;ksa vkSj ou vf/kdkjksaÞ ij laf{kIr fVIi.kh 

fyf[k,A 

 (³) Ïf"k&vk/kkfjr m|ksx D;k g® \ Ïf"k&vk/kkfjr 

m|ksxksa ds uqdlku fyf[k,A 

 (p) vkS|ksfxd LFkku ds fl¼kUrksa esa uohure izo`fÙk;ksa ij 

ppkZ dhft,A 

 (N) ^O;kikj CykWd* ij ,d laf{kIr fVIi.kh fyf[k,A 

7- fuEufyf[kr esa ls fdUgha ik¡p ij laf{kIr fVIif.k;k¡  

fyf[k, %   5×4=20 

 (d) vkfFkZd nwjh 

 ([k) Fkksd vkSj [kqnjk O;kikj 
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 (x) lalk/ku dk;kZRed vkSj ifjpkyukRed gSa 

 (?k) [kk| izlaLdj.k 

 (³) iape ;k iaped vkfFkZd xfrfof/k;k¡ 

 (p) Hkwrkih; ÅtkZ 

 (N) ydM+h mRikn 

 

 

× × × × × 

 

 

 

 

 

 


